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| Physics : Section-A (Q. No. 1 to 35) |

1 If ¢is the velocity of light in free space, the correct
statements about photon among the following

are : )

A. The energy of aphoton is E=hv -~

B. The velocity of a photon is ¢. _,/

C. The momentum of a photon, p=— HE

D. Ina photon-electron collision, both total
" energy and total momentum are conserved. -

E." Photon possesses positive charge. ¢,

Choose the correct answer from the options given

below :

(1) A,B,DandE only

(2) A andB only
"A,B,Cand Donly

4 If the monochromatic source in Young’s double’

slit experiment is replaced by white light, then
(1) all bright fringes will be of equal width.
(2)

(3) there will be a central dark fringe surrounded
by a few coloured fringes. !

M there will be a central. bright Mhlte fringe’.
~ surrounded by a few coloured rmges

interference pattern will diSappiear.

5 The output (¥) of the given.logic gate is similar

to the output of an/a :

7. (4) A,CandD only e ?.,Eb
: # B
2 A thin spherical shell is charged by some source.
The potential difference between the two pomts ) ,(1)/ AND gate (2) NAND gate
C and P (1n ¥) shown in the figure is: (3) NOR gate (4) OR gate

(Take =9x10° 81 units)

’J'I:Go

@) 3x10°
=T (4) 0.5x10°

3 A wheel of a bullock cart is rolling on a level
road as shown in the figure below. If its linear
speed is v in the direction sh m, which one of
the 1 following options is (P and Q are any

. highest ‘and lowest poifits on the wheel,
respectlvely)‘?

"k (1) Pomt P has z;enq qpeed. P‘» |
-(2) 4 Point P moves slower than pomt Q. “\
Poth moves faster than point 0. -~
(4) Both the points P and Q move with equal
speed I?s

S4_English ]
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6 The terminal voltage of the battery, whose emf is
10¥ and internal resistance 1 2, when connected
through an external resistance. of 4 €3 as shown

. inthe figure is : ‘

0
AN '__-_:_-—_, s

' I 192 .

AL .
(1 10¥% @) 4V
3) 6V i 8V

7 " Ahorizontal force 10 Nis appl’ied toablock 4 as .

. shown in figure. The mass of blocks 4 and B are
2 kg and 3 kg, respectively. The blocks slide over

% 4/ Zradfrictionless surface. The force exerted by block

-&4 on blockB is3 (o~

e '-""‘~

_."?-'_1‘ IR N ] S B
> — Zig 3ke

= ///////.f// it
(1) 10 N‘(’ "4 a.v‘! (2)
(3) 4N 6N
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string bécomes : W’ b P '!f;' )
R P ys
(1) 2r o 1 LoV
. ' 441 '
o7 ar @ L 0|1
i . 4 @;’* - pﬁ' .
A 1. . b
ey A Ly
290y . 3 e*st.;’% s~ 'ﬁ}, e_ }’M
82 ) @u :l §p ‘ &
In the nuclear emis§ign stated above, the mass
number .and atomiq‘fg}u’mber of the product 0
respectively, are :
5 286, 81 (2) 280, 81 A\
Ti3) 286,80 (vy(4) 288,82 . GbV
. SLTT s
B c‘;'f ”%B“B
Match List-I with l!gleZt-n. |
List-I ) . List-II 15
(Material) :i;"; (Susceptibility (x)) | -
A. Diamagnetic T x=0 -
B. Ferromagnetic ‘af.!ll. 0>x2-1 '
C. Paramagnetic E;HI % >>1
D. Non-magnetic ::g;N 0<x <€ (a ;ngall 8
&3 positive number)

2 o
Two bodies A and B of same mass undergo
completely inelastic one dimensional collision.
The body A moves iitp velocity, v, while bedy B
: s - " - i
is at rest before ciﬁ,sion. The velocity. of the.
system after collisiqgjs v,. The ratio v 1 v is :

(1) 14 :E?(z) 2 n
L%:l W) 41 {-
i 4 W Y

A bob is whirled in a horizontal plane by means
of a string with an fkq_'tial speed of @ rpm. The

tension in the string’is 7. If speed becomes 2@
while keeping the sarfie radius, the tension in the

Choose the correct affswer from the options given
below:

(1) JA-IV, B-TIL, C-II, D-I &t
7 A-IL, B-TIL, C-IV, D-1
(3) A-IL B-IC-III, D-IV
(4) AL, B-IL C-1, DIV .

-

S . Fa

N
A u 1"2.’

12

13

T T

-
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a1
':{v

A particle moving with uniform speed in a circular
path maintains :

varying velocity and vgg}jing acceleration.
(2) constant velogity. O
(3) constant acceleration. )
(4) constant velocity but v%in g acceleration.

o

" The moment of inertia of a thifl rod about an axis

passing through its mid point and perpendicular
to the rod is 2400 g em?2. ’I'lledength of the 400 g
rod is nearly :

o]
(1) 72.0cm &3 cm
M /1 :
(3) 17.5cm (4) 7 em
O
()
_). _ i
il
A4 Ki C ‘D
Solenoid - 1 olénoid-2

In the above diagram, a sfffhg bar magnet is

moving towards solenoid-2 £9m solenoid-1. The*
direction of induced current iif2olendid-1 and that
in solenoid-2, respectively, are through the
directions: - :

(1) BAand PC g d@{@gndb&'

(3) BAandCD @ “(4) MBand CD
‘ O

Consider the following st&@ents Aand B and

identify the correct answer o

_ ' D
For a solarcell, the I-¥ characteristics ligs

A.
in the TV quadrant of thgygiven graph.

B. In a reverse biased pAgunction diode, the
current measured in (g A4) s due tofha _
charge carriers. J~ -

(1), Both A and B are incorrect.

A is correct but B is incorrect.
A is incorrect but B is correct.
Both A and B are correct.

(3)

2
-
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16 At any instant of time ¢, the displaceﬁlent ofany | 19 A logic circuit provides the output ¥ as per the
particle is given by 27— 1 (SI unit) under the ﬂ}llowmg truth table :
influence of force of 5N. The value of Q’ \F{ A1BIY
instantaneous power is (in, SI unit): . ¥ —=—T=
(1) 6 Z) .10... ,F).
3 5 4 7 0|1 ]0
. 110 |1
17 -Match List I with List IL 111 1o
© L:St lIL' 7 - L:F’._t Ht s () The expression for the output ¥is :
pectral Lines o avelengths (nm .
Hydrogen for L B (2) 4B+4
transitions from) (3) AB+A M 3
A m=3tom=2 L 4102 7 &g"
ny n - e ¥
B. m=4tom=2. 'IL 4341 ""té & 20 A lightray enters through a right angled prism at
C. ny=5tom=2 L. 6563 O \{( sl " "Poig_t P with the angle of incidencc-.z 30° as shown
.ﬂé; s = . infigure. It travels through the prism parallel to
D. np=6tom=2 V. - 486.1 i its base BC and emerges aleng the face AC. The
Choose the correct answer from the optlons gwen ‘5“ refractwe index of the prism is:
below : “———3- et ' wﬁ&"’ ¥ S
(1) A-L BeII;CHII, D-IV Ao W
2) AL B-I, C-IV, DT Hwb&
A-IIL, B-IV, C-II, DI o
(4) A-IV, B-M, C-I, D-II )
18  Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R. '
Assertion A : The potentlal (V ) at any axial pmnt
at 2 m distance(#) from the centre of the dipole
of dipole moment v.ectlor P of magnitude, 21  Inavernier calipers, (V+ 1) il of vernier
- 4x106Cm,is +9x10° V. @a scale coincide with NV divisions of main scale. If
: : \\ﬁ" / / 1 MSD represents 0.1 mm, the vernier constant
~ e =9x10° ; bl )fb in cm) is :
7> (Tﬁke“"ain-,et} XU SLunits) % .,,,\‘“)5\ ( ) ]
T : ¥ 1) 10N+ (@) ——
e 2P
Reason R : V= 5 where # is the L" 10N
4Tt =k ‘.P %
distance of any axial point, situated at 2 m from 4? 100( To0(v +1) (4) 100N
the centre of the dipole. & '
In the light of the above statements, choose thé
correct answer from t_he options given below: 22 A tightly wound 100 turns coil of radius
(1) Adis false but R is true. 10 cm carries a current of 7 A. The magnitude of
(2) Both A and Reare true and R is the correct the magnétic field at the centre of the coil is (Take
explanation of A. permeability of free space as 4n x1 0~ SIunits):
(3) Both A and R are true and R is NOT the _ e
orrect explanation of A, ™~ (1) -441 2) -mT
A is true but R is false. @,\- T (3) 44T 44 mT
g s % A / F
: g .
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23 A wnre’of length ‘7’ and resistance 100Q is - A
. : L. Yp
divided’ into 10 equal parts. The first 5 parts are 28  Inanideal transformer, the turnsratio is —= o
connectpd in series while the next 5 parts are _ _E i g :
connected in parallel. The two combinations are | ,~ ~ ~The ratio ¥ : .J;,is equal to (the symbols carry
" again connected in series. The resistance of this -+ theirusual meaning).:. . *
final combination is: g) 24 (2 1:2
() 600 2) 26Q 2:1 (4) 1:1
20 4) 550
' ; : o 29  Themass of a planet is L thihat of the earth and
24 - The quantities which have the same dimensions | ~ 10
as‘those of solid angle are : its diameter is half that of the earth. The
(D angl'ular speed and stress }& acceeration due to gravity on that planet is:
. ! L
strain and angle ”Lf{p : C 3.92ms2 (2) 19.6ms2
(3) stress and angle g (3) D @) 49ms2 %}-
(4) strain and arc /
. \©@
25  Inthe following circuit, the equivalent capacitance ) 3 vfﬁ
T T e 30 The graph which shows Fhe_v‘anat:on of ( 2 J
2pF 2 pE D A Bﬂ:\ and its kinetic energy, E is (where j is de Broglie
" : ' v - wavelength of a free particle):.
Ae 7 T 2uF ——o B //pb ¥ o . .
st [
@ ¥
. B ?
@) 1pF o=
\
26  The maximum elongation of a steel wire of 1'm i 1
* length if the elastic limit of steel and its Young’s ) 1;
modulus, respectlvely, are 8 x 108 N m—2 and E 5 E
2x 101! Nm=2,is:
b Snot 8 fo 31 A thermodynamic system is taken thfough th
7 ermodynamic system is taken through the
; 4) 4
(2 B @m (6 4 mm cycle abeda. The work done by the gas along the
5 : pat sat wps
27  Anunpolarised light beam strikes a glass surfaee
at Brewster’s angle. Then T P A
the reflected light will be completely. |© ~ ~ ~ ;I; | d ¢ s
polalnsed but the refracted light will‘be |-- W0 kra X
partially polarised. 100 k¥Paf - - - rb
(2) thereflected light will be partially polarised. i
(3) the refracted light will be oompletely 100 em?  400em3”
y—
polarised. < . J
(4) both the reflected and refracted light will be_ | - L) —60J : zero
completely polarised. (3) 30J 4y -90J

S4 English ]
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incorrect. %\ k.
Statement IS correct but Statement II is .

(1) 99N

e

[
S @/ﬂ‘{y o WV
" 0 s i,
Given below are two stateTmients :
Statement I : Atoms are electrically neutral as
they contain equyl number of positive and
negative charges.e=77
Statement I :(Atgms of each element are sta
and emit their c. teristic spectrum.
In the light of thmbove statements, choose the
most appropriateignswer from the options gwen

below :
() Statement I is incorrect but Statement I is

correct.
(2) Both Statefi®nt 1 and ‘Statement II are
correct. D

(3) Both Statehignt I and Stalement IT afe

O
. W

Ina umform magnetic field of 0.049 T, a magnenc
needle perf‘crmm{) complete oscillations in
5 seconds as showm The moment of inertia of the
needle is 9.8 x 107F kg m2. If the magnitude of
magnetic momerft{of the needle is x x 107> Am?;
then the value of €} is :

incorrect.

a

@

- If x= 5 sin [nt + ﬁm represents the motion of a

part1c1e executing,simple harmonic motion, the
amplitude and tigpeyperiod of motion;Tespectively,
are : 1) L

W (2 Sem,2s

‘2’)(5111,15 o .
. Sm,2s \Q (4 Scm,1s 'P-w!-@*d

A thin flat circular disc of radius 4.5 cm is placed
gently over the surface of water. If surface tension
of water is 0.07 Nm~l, then the excess force
required to take it away from the surface is :

19.8 mN

(3) 198N ' (4) 1.98mN

Physics : Section-B (Q. No. 36 to 50) |

36

37

[ 38

39

,"V

NP

An iron bar of length L. has magnetic moment M.
It is bent at the m1tddle of its length such that the
two arms make an, ngle 60° with each other. The
magnetic momentl?g this new magnet is: -

£
M F @M
[t :
3’;— W65 (4) 2M

Choose the corrediGircuit which can achieve the
 bridge balance.

)

* The minimum enetg¥ required to launch a satellite
of mass m from the surface of earth of mass M
and radius R in a ¢ircular orbit at an altitude of
2-R from the surfﬁ&ﬁof the earth is:

GmM {E’%‘; - 5CGmM
( D’ F@ (2 “¢Rr
2GmM f‘ﬁ GmM
3) - K3 (4) "R
R

The following graph represents the T-V curves of
an ideal gas (whm@T is the temperature and ¥
the volume) at thirée pressures Py, P, and Py
compared with thdsé of Charles’s law represented
as dotted lines. ,g.{;

Then the correct relation is:

R>P >.'P_!5
(3) A>B>P

) B>PB>A
4 PB>R>A

[ Contd...
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The property which is not of an electromagnetic
wave travelling in free space is that :

(1)

théy originate from charges moving with
uniform speed.

@
)

they are transverse in nature.

to energy density in magnetic field.

1

(4) thgey travel with a speed equal to \/7 .

Ho€o -~
A metallic bar of Young’s modulus,
0.5 x 101! N'm2 and coefficient of linear thermal
expansion 1075 °C~1, length 1 m and atea of

_ cross-section 10— m? is heated from 0°C to 100°C
without expansion or bending. The compressive
force developed in it is: ‘

(2) 5% 103N
C))

() 2x103N

(3) 50x%x103N 100 x 103N

-"1
.

Two heaters A and B have power rating of 1 kW
and 2 kW, respectively. Those two are first

connected in series and then in parallel to a fixed -

power source. The ratio of power outputs for these
two cases is:
3

(1) 2:3
(3) 2:9

A force defined by F = at? + Bt acts on a particle ‘

at a given time r. The factor which is
dimensionless, if o and B are constants, is:

ay @ By
. ¢
o @ P ’Z‘/“

A
W
?

)

the energy density in electric field is equal

R

44

46

47

7

45

A parallel plate capacitor is charged by connecting
it to a battery through a resistor. If I is the current _
in the circuit, then in the gap between the plates :
(1) displacement current of magnitude greater
than I flows but can be in any direction.
(2) there is no current,
# displacement current of magnitude equal to
I flows in the same direction as 1.
(4) displacement current of magnitude equal to
[ flows in a direction opposite to that of 1.

A small telescope has-an objective of focal length
140 em and an eve piece of focal length 5.0 cm.

" The magnifying power of telescope for viewing

a distant object is:
(1) 32 2y 34
3 28 @ 17 D

Bu.

If the plates of a pargllel plate capacitor connected
to a battery are moved close to each other, then

A.  the charge stored in it, increases~ > ¢
B. ' the energy stored in it, decreases. & -
C. its capacitance increases.

D. the ratio of charge to its potential remains

the same, &£
E. the product of charge and voltage increases. —~

Choose the most appropriate answer'from the
options given below:

(I) A,BandConly (2) A,BandE only
,@ﬁ CandEonly (4) B,DandE only
L ;

"A 10°uF capacitor is connected fo a 210 V, 50 Hz
source as shown in figure. The peak current in .

* the circuit is nearly (n =3.14): R =
to
I g ryd 2
| c=10pF 1@,;34“" A2
—o— til
210 ¥, 50 Hz g‘a’
i £ -3
(‘;V.qs y (@) 0584 - %
0.93 4 T (4) 1204 [ 58
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The velocity (v) — time (7) plot of the motion of a
body is shown below :

(48]
i,
6
o
0

The accelegation () —time (¢) graph that best suits
this motion is :

1) —

T m
<

sa(ms™)

(1)

t(s)—> t(s) —

~

63

2
el
3
£ ;
=
T'o é_) )/
T ¢
O

A sheet is @;cd on a horizontal surface in front

of a strong mragnetic pole. A force is needed to :

A. hold tHe sheet there if it is magnetic.

B. hold the sheet there if it is non-magnetic.

C. move the sheet away from the pole with

uniform velocity if it is conducting.

move~the sheet away from the pole with

unifornd velocity if it is both, non-conducting

and -polar.

Choose thwn’ect statement(s) from the options

given bel%

(1) Conly

(2) Band D only

(3) A an@@ only

(4) A, C@ad D only
iy

-2)

—ams
(=]

t(s)>

D.

o~ %y

If the mas$°of the bob in a simple pendulum is
increascdﬁathricc its original mass and its length
is made héﬁts original length, then the new time

. . - 5 x . - . - -
period of oscillation is 5 times its original time
period. Then the value of x is:

(1) 2 3
Y 2

@) 243

Chemistry : Section-A (Q. No. 51 to 85) |

Y
(=]

Vs

\{( Match List I with List II.

List I List 1T
Quantum Number :,2 Information provided
A my L 1. shape of orbital
B. m, ‘_‘Q II. size of orbital
it 0 Ul orientation of
Y orbital
D. n IV. orientation of spin
" of electron

Choose the correct %wer from the options given
below: W0
(1) A-IL, B-I, C-IVED-11
(2) , A-L B-I11, C-&D—N

A-IIL, B-1V, C-1, D-II
(4) A-IIL B-1V, Geit. D-1

L

Given below are t»@statements 2

Statement I : Both @O(N H, )6 T+ and [Cu:)F‘5 ]3_

complexes are oc‘fa'nedral but differ in their
magnetic behaviour. 7

3+
Statement 11 : [QNHS)J is diamagnetic

whereas [CoFb ]3_£ paramagnetic. /

In the light of the dBove statements, choose the
correct answer fromethe options given below:
(1) Statement I is false but Statement Il is true.
_&27 Both Statement I and Statement I are true.
(3) Both Statemént I and Statement 11 are false.
(4) Statement | i%@ue but Statement Il is false.
a0
The E° value for thg&Mn3*/Mn?* couple is more
positive than that @PCr3*/Cr* or Fe3*/Fe* due
to change of

(1) d?to d? configuration

* (2) d to d* configuration
(3) d° to d? configuration
d* to d’ configuration

| Contd...
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The compound that will undergo Sy! reaction
with the fastest rate is
CH,

A o O
A
> On Qo O™

Given below are tw%atements:
Statement I : The bﬁng point of three isomeric
pentanes follows the"order
n-pentane > isopentane > neopentane o
Statement II : Whegn branching increases. the
molecule attains a shape of sphere. This results
in smaller surface for contact, due to which
the intermolecular s between the spherical
molecules are weak, thereby lowering the boiling
point. '@
In the light of the a.%ve statements, choose the
most appropriate answer from the options given
below:
(1) Statement I is,{qcnr?ect but Statement II is
orrect. £
Both Statemengdand Statement IT are correct.
(3) Both Stateméefit | and Statement Il are
incorrect. e
(4) Statement | is@orrect but Statement II is
incorrect. W0

Match List [ with List IL
List 1 & ListH

(Process) E} (Conditions)

A. Isothermal £}  No heat exchange
process ;(‘D

B. Isochoric @ Carried out at
process constant temperature

C. Isobaric IIl. Carried out at
process . constant volume

D. Adiabatic :;;:gf Carried out at
process £y constant pressure

Choose the correct at§wer from the options given
below: b

20y A-IL BT C-9D-
(2) A-IV, B-IIL, C-I1, D-I
(3) A-IV, B-II, C-III, D-I
(4) A-L B-IL C-IIL, D-IV

S4_English |
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57 Activation energy of any chemical reaction can
'l be calculated if one knows the value of

% rate constant at two different temperatures.
(2) rate constant at standard temperature.
(3) probability m"collisiong

(4) orientation of reactang'molecules during

collision. WO
&3

o
1}8 Arrange the following elements in increasing
7 order of first ionization enthalpy:

Li, Be, B, C, N

Choose the correct answer fr% the options given
below: T

(1) Li<Be<N<B<C ®
(2) Li<Be<B<C<N %

_/gfLi«:B{Be<G<N O

(4) Li<Be<C<B<N
v}

759 On heating, some solid subStances change from
solid to vapour state withbul passi
Wte. The technigue used for the
purificatioh of such solid su

neces based on the
above principle is known as o

(1) Chromatography
(2) Crystallization

o ™M
% Sublimation oy

(4) Distillation L
O

20
ga The reagents with which glucbse act
to give the corresponding te@/pmducls are
A. Tollen’s reagent
Schiff’s reagent s m

B.
sl L
C. HCN Te
o
D. NH,OH
£ 00
E. NaHSO; W
Choose the correet options ﬁ"??n the given below:
(1) Eand D (2),Band C

(3) AandD ‘}/Bandfj
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61  ‘Spin only’ magnetic moment is same for which
of the following ions? "
A, T -8, THB. Ot
C. Mn?* =g D. “Fe2 - 4
E. St g’
Choose the most appropriate answer from the
options given below:
(1), A and D only
B and D only
(3) AandE only
(4) BandC only
62 The Henry’s law constant (Ky;) values of three
gases (A, B, C) in water are 145, 2x1075 and
35 kbar, respectively. The solubility of these gases
in water follow the order:
Kr\
(1) A>B>C" (2) B>A>C
UFH B>C>A (4) A>C>B
63  Which one of the following alcohols reacts
instantaneously with Lucas reagent?
CH; -
|
‘?ﬂ/ CH, ~C-OH
CH,
(2) (‘H3 —ICH2 —C‘.H2 —CHzOH
(3) cH,-CH,- (l‘H —~OH
CH,
(4) CH,- CH - CH,OH
CH,
64  Arrange the following elements in increasing

order of electronegativity:
N, O, E £; 5

Choose the correct answer from the options given
below:

(1), F<KO<N<C<Si*

Si<C<N<O<F
(3) Si<C<Q<N<F
(4) O<F<N<Cx<Si

S4 _English |

qs
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65

—

66

67

Match List I with List II.

List I (Reaction) List 1l (Reagents/

Condition)

0
1. @)'\Cb"

Anhyd.AlCl4

A OO0

. O-0T0

Il Cro;
OH O
¢ LI L 1. KMnO,/
KOH, A
CH,CH
2 50 o R IV. (i) Os
COOK T
@’ (i) Zn-H,O

Choose the correct answer from the options given
below:

(1) A-l, B-1V, C-11, D-1II

(2) A-1V, B-L, ¢-111, D-II

(3) AL, B-1, C-11, D-IV

4 A-IV, B-1, C-I1, D-III

Match List I with List IL.

List I List IT
(Conversion) (Number of
Faraday required)
A. 1molofH,0t00Q, L 3F
B. 1 mol of MnO, to I i 2F
Mn?*
C. 1.5 mol of Ca from L AF

molten CaCl,
D. 1molof KO to Fe,O; IV. 5F
Choose the correct answer from the options given
below:
(1) » A-I1L, B-1V, C-11, D-I
A-IL, B-1V, C-1, D-111
(3) A-lL B-1V, C-I, D-11
(4) A-IL B-IIL C-I, D-IV

Which reaction is NOT a redox reaction?
BaCl, + Na,SO, — BaSO, + 2 NaCl

(2) Zn+ CuSO4 — ZnSO4 + Cu

(3) 2KCIO;+1, = 2KIO; +Cl,

(4) H,+Cl, = 2 HCI
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70

71

Identify the correct reagents that would bnng
about the following transformation.

Q-— CH,-CH=CH, -
C>—c112—cn2 - CHO

(1) (i) HOM*
() PCC' . @4
() () HOH" i
(i) CrOq .“
j () BH; |
© (i) H0 /om
(i) PCC
4) (i) BH;
N @
(i) H,0 /orfr"-s
(iii) alk. KMn®4
(iv) Ho0 ,__‘a

G

Lo . '
The most stable carbp‘éﬁj@tmn among the following

is: = ¢
CH
3 v M& W - 1 " I”’ +

°=
LY
CH, &hu}
(2) H("/\CH%ECII;
W CH,
E’J | = &\“V&
; CH
3) (_.‘H;/H\CHZ’/I
- iz.'z"? CH]
o [t G
W e A
5;"‘5

Among Group 16 elements, which one does NOT
show -2 oxidation state?

Po £ {1-1(2) O
(3) Se (4) Te

The energy of an eféetron in the ground state
(n= 1) for He" ion is*x J, then that for an electron
in n = 2 state for Be%‘i.}ion inJis:

LY e
el — X
9 W&
3) -3 Vi) —ax

S4_English |
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72

73

74

Match List T with List 1.

List 1 List 1T

(Molecule) (Number and types of
bond/s between two
carbon atoms)

A. ethane I. _ one o-bond and

two n-bonds
B. ethene two m-bonds
C. carbon [It‘o one o -bond
molecule, C,
D. ethyne I\Lfg one ¢ -bond and

L one m-bond
Choose the correct answer from the options given
below:
(1) A-II, B-1V, C-I, Bh
(2) A-L B-IV, C-TI, D<HI

(3) A-1V, B-lII, C-11, B4
A-111, B-1V, C-11, D=1

pUe)

For the reaction 2A ‘=\:‘~Q+C s K =4x 1073, Ata

given time, the composition of reaction mixture
is: [A]=[B]=[c]=Fom.
Then, which of the follgwing is correct?
(1) Reaction has gonéfd completion in forward
direction. 49
Reaction is at equilibrium.
Reaction has a tédency to go in forward
irection.
(4¥ Reaction has a tendency to go in backward
direction. ™)
D
Given below are two statements:
Statement I : The bo*ﬂg point of hydrides of
Group 16 elements foi% the order
H,O0 > H,Te > H,Se >‘\E§
Statement II : On the basis of molecular mass,
H,O0 is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive ébonding in H,O, it has
higher boiling point.
In the light of the abowstatements choose the
correct answer from the.options given below:
(1) _ Statement | is falsg'but Statement I1 is true.
Both Statement I and Statement Il are true.
(3) Both Statement | and Statement 11 are false.
(4) Statement | is true but Statement Il is false.

(2)
3)
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’ A
n, - }g po
G+ . b 7
2 ] -~ ?"‘K 2
C?Q | gram of sodium hydroxide was treated with | 80  The highest number of helium atoms is in
25 mL of 0.75 M HCl solution, the mass of sodium

hygroxide left unreacted is equal to

(1) 2.271098 L of helium at STP gA it

(1) 200 mg (2) 750 mg L)‘?(ﬂl mol of helium M ~wob
% 250 mg (4) Zeromg (3). 4uofhelium \ 0%
=

(4) 4 gofhelium YN

76  In which of the following equilibria, Kp and K
are NOT equal?

(1) 2BrClyy = Bryg +Clhyy ./~ 81  Which plot of In k vs T is consistent with
M PClsg) = PClyg) * Clyg) & Arrhenius equation?

(3) Hygy+lhgy = 2Hl,

(4) COg *+ HyOp = COyy +Hyy —

Ink—
Ink—

(2)
77 A compound with a molecular formula of C4H 4

HE
has two tertiary carbons. Its IUPAC name is: L
(1) 2.2-dimethylbutane

(2) n-hexane i v \,
(3) 2-methylpentane A T
JM/ 2,3-dimethylbutane v =
i e
i
78 R Fehling’s solution ‘A’ is '
aqueous sodium citrate X
queous copper sul
ilkaline copper sulphate 82  Given below are two statements:
alkaline solution of sodium potassium L )
tartrate (Rochelle’s salt) &€ Statement I : Aniline does not undergo Friedel-
Crafts alkylation reaction. __~
79  Match List I with List I Statement I1 : Aniline cannot be prepared through
List I List II Gabriel synthesis. —~
C d Shape/ t
(Compound) ( ape.geome ry) h In the light of the above statements, choose the
A. NH; I.  Trigonal Pyramidal ) R gt 2 By
B. BI'FS 1. Square Planar correct answer {rom the options given oc ow:
C. XeF, III. Octahedral (1) Statement I is incorrect but Statement II is
D. SFg IV. Square Pyramidal true.
Choose the correct answer from the options given

belowi Lg% Both Statement I and Statement Il are true.

(D) -11, B-1II, C-1V, D-I (3) Both Statement I and Statement II are false.
\,(aa/:-l, B-1V, C-I1, D-11I
(3) A-IL B-1V, C-I1, D-1
(4) A-lIL, B-1V, C-1, D-I

(4) Statement I is correct but Statement II is
false.
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85
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Intramolecular hydrogen bonding is present in
(1) HF

NO,

L, ,

/UNUE y

@ ho f“
NO,

() Q/ 3 s 1

HO

In which of the following processes entropy

hreases? = e

A. A liquid evaporates to vapour. =

B. Temperature of a crystalline solid lowered
from 130K to 0 K. p¢

i 2 NHHCOB(S] —¥Na2C03(5] + ’COE({lj +H,0

D. Clz{g)—}E Clg —

Choose the correct answer from the options given

below:

(1) Camd D (2) , Aand C

(3) A.BandD \% A,Cand D

@7

A

\i
>
o~

257

[ Chemistry : Section-B (Q. No. 86 to 100) |

2
-

0t

88

A compound X contains 32% of A, 20% of B and
remaining percentage of C. Then, the empirical
formula of X is :

(Given atomic masses of A=64; B=40; C=32u)
(1) LABC, (2) A,BC,
ABC;4 (4) AB,C,

The rate of a reaction quadruples when
temperature changes from 27°C to 57°C.
Calculate the energy of activation.

Given R = 8.314 J K~! mol!, log 4 = 0.6021

(1) 3804 kJ/mol

2173804 kl/mol N0
(3) 380.4 kJ/mol %
(4) 3.80 kl/mol 9\(}0"

l rb
- - - - - a“'}
Given below are certain cations. Using inorgan

qualitative analysis, arrange them in increasing
group number from 0 to VL. 2

2 A. A]3f A 2B Cut'. 1. 7\0”

SC. Ba?' 80 4D (302*.-& P

GE. Mg AT

Choose the correct answer from the options given

: : : below:
Mateh List I with List I1. . (1) .E.A.B.C.D =D
List I (Complex) List IT (Type of 5
isomerism) 3,4, DaC, B "b"’q, 0

. (3) B,C.ADE o W

CO(NH3J5 (NOZ)]C]E |8 Solvate (4) E'.' Cs D) BsA py %%
s , T 89  The plot of osmotic pressure ( 1) vs concentration

Co(NH, )q (so, )] Br [. Linkage (mol L) for a solution gives a straight line with
3 5 _ : slope 25.73 L bar mol~!. The temperature at which

L the osmotic pressure measurement is done is:

Co(NH, ]6} [C“(CN }{J I lonization ‘. (Use R = 0.083 L bar mol, K)
= ' _ i Vol {1} 12.05°C ko B
! ERMCIRIN. ) L (3 310°C (4) 25.73°C

Co(H,0), |c, IV. Coordinatiof
. G enicad 90  Mass in grams of copper deposited by passing
Choose the correct answer from the options given 9.6437 A current “‘"{“gh a voltmeter cont.ammg
bélow: copper sulphate solution for 100 seconds is:

. Sk : -
(1) A-IL B-1V, C-1I1, D-I - (Given: Molar mass of Cu : 63 g mol™!,
AL BAIL C-IV, D1 898 et 2 7P 1F=96487C)

(3) A-LB-IIL C-IV.D-I & A+"™ -*,;u\ 4 (1) 0,0315¢ (2) 3.15¢
(4) A-L B-IV. C-IIL, D-ITR 8 Mms g 4) 315g

MIL’L W&'}'ﬂ ko
13
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R +PC1%RCI+HCI+B o
: }2?! HPO4 and POCI, -y ‘:;"“
7(2) POCIdhd H;PO;

41’5

Consider the following reaction in a sealed vessel | 95
at equilibrium with concentrations of

N,=3.0x 103 M, 0, =42 % 10> Mand
NO=2.8x 103 M.

v—@i} (e) +02(g)
If 0.1 mol L
what will béfegree of dissociation (c) of NO,
at equilibriugy?
(1) 07179
(3) 0.0889

™
For the givéaieaction:

C%(]r

o\"”w
’Z:"’

2N0

fNO, & is taken in a closed vessel,

(2) 0.00889
(4) 0.8889

ab KMnO,/H* Pt

D

O

(major
product)

96

(4) C}-i‘%{ CH—O W

The pair of @hanmd ions which are diamagnetic

is - £}
(1) m3 qgj Sm3* RORY RIS D
_ Ce* and Yb2H (3) butylamine %

(3) Ce3t and Eu?*
(4) Gd** and Eud*

97
The producgs-A and B obtained in the following

reactions, rgspectively, are

Oy,
3ROH + PGE}->3RCl + A )

(3) POCI; and H3PO,

14

1.
rR>q

z OB
5ol

Given below are two statements :

3+
Statement I : [Co(NHs)ﬁ] is a homoleptic

+
,complex whereag'_][Co(NH3)4Clz} is a

heteroleptic complesy

)

0 3+
Statement 11 : Compisx [CO(NHJ)J has only
one kind of ligandstbut [Coy(NH})‘1 C'z:l has
more than one kind of ligands. ——

In the light of the above statements, choose the
correct answer from-the options given below:

(1) Statementlis %’ggse but Statement 11 is true.

Both Statement’and Statement II are true.

(3) Both Statemeni_'gand Statement 1l are false.

(4) StatementI is t.;-ue but Statement 11 is false.
3

Identify the major; ;‘produ@formcd in the

following reaction séquence ¢ AN
e s

CH,-CH, CH, '!M—)A
a’/(’j A
OH" Na()H ;

Partial hydrolysis I

{r)
(1) o —bromobutandic acid

1

major )

0
. W
4) butanamide '
(4) iyt
Identify the correct answer
Three canomqa.& forms can be drawn for
cos" T
Three re sonangg{ftructures can be drawn for
ozone. L

BF has non-zeg0 dipole moment. -

(2)

(3)

(4) Dipole moment of NF; is greater than that

of NHj,.
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| Botany : Section-A (Q. No. 101 to 135) |
98 Major products A and B formed in the following | 101 Spindle fibers attach to kinetochores of

reaction sequence, are | }r M ¢ chromosomes during
ik Y P"//Ll (1) Telophase (2) Prophase
H,;C \\ G ¥f Metaphase (4) Anaphase
3 P P
P Br3 ale. KOH
—2 5 A ¥ .
(major) A (major) 102 The capacity to generate a whole plant from any

cell of the plant is called:
(1) Somatic hybridization

: OH (0]
H,C Br HsC )2)/ Totipotency
(1) a= \C'/ v B= \él (3) Micropropagation
" (4) Differentiation

R s v H,C 103 Bulliform cells are responsible for
(2) 4 = \O R \© (1)  Providing large spaces for storage of sugars.
' - Inward curling of leaves in monocots.
Br (3) Protecting the plant from salt stress.

&1 Hscb H;C (4) Increased photosynthesis in monocots.
o b oB= U
104

Given below are two statements:
OH OH Statement | :farenchyma is living but
a

H,Q Br H;C collenchyma is issue. X
4 A= : B= Statement II : Gymnosperms lack xylem vessels

but presence of xylem vessels is the characteristic
of angiosperms. _~

-

99  During the preparation of Mohr’s salt solution
(Ferrous ammonium sulphate), which of the ‘

following acid is addﬁtui’tq_mv_egt_hydml_ysjs of

Fe2* jion?
‘;B dilute sulphuric acid

(2) dilute hydrochloric acid

(3) concentrated sulphutic acid

In the light of the above statements, choose the
correct answer from the options given below:

Statement | is false but Statement II is true
(2) Both Statement I and Statement II are true
(3) Both Statement I and Statement I are false
(4) Statement I is true but Statement II is false

105  Identify the type of flowers based on the position
of calyx. corolla and androecium with respect to
the ovary from the given figures (a) and (b)

(4) dilute nitric acid

e work done during reversible isothermal
l expansion of one mole of hydrogen gas at 25°C
from pressure of 20 atmosphere to 10 atmosphere

is:
(Given R = 2.0 cal K-! mol!) \J%h
J A 1

; A :
(1) 100 calories 2 ¢ l/ (a) Perigynous: (b) Perigynous
(2) 0 calorie?L Q f,f[- +L* ; (2) (a) Epigynous: (b) Hypogynous
(3) —413.14 calories > \ LA (3) (a) Hypogynous: (b) Epigynous
V@ 413.14 cilories - (4) (a) Perigynous; (b) Epigynous
S4 English | 15 [ Contd...
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106 Match List I with List IT

List 1 ~ Listnl
A. Nucleolus I.  Site of formation
™) of glycolipid\k )
B. Centriole O II. Organization like
tg the cartwheel
C. Leucoplasts ¢ lL. Site for active
O ribosomal RNA
synthesis
D. Golgi IV. For storing
apparatus £ nutrients _
"
Choose the correctgnswer from the options gtven
below: Va) =
(1) A-I B-II, C-IfiZD-TV &
A-TI1, B-TI, CiLN, D-I

(3) AL, B-lL, CL DIV
4) AL, B-IV, C.I1, D-1
(4) m

107 Match List Lw;th]_._qst 11

List I O . ListI

A. Clostridium % L Ethanol
butylicum (o] - !

B. Saccharomyces L. Streptokinase 1
cerevisiae -

C. Trichoderma g 1IT. 'But}'r{c acid
polysporum )

D. Streptococcus sp& 1V, Cyclosporin-A

Choose the correct Aiswer from the options.given
below: Y
(1) A-IV,B-, C-lII, D-II =
(2) A-IO, B-], C-II, D-IV
(3) A-IL, B-IV, CIl], D-1 &
A-lI1, B-I, C-1yy D-II
e
108
by the three regioféAin DNA and these are with’
respectto upstreanﬁ-g&nd down stream end;_
” Promotor, Structiral gene, Ferminator
(2) Repressor, Operator geng, Structural gene
(3) Structural gene, Transposons, Operator gene
(4) Inducer, Repressor, Structural gene

S4_English |

A transcription unifih DNA is defined primarily-|’ ‘

i

109 List,of endangered species was released by-
' IUCN * (2) GEAC/
(3) WWF (4) FOAM
: / -
What is the fate of a piece of DNA carryingpnly
gene of interest which is transferred inte a@lien
organism? Ty)
A. The piece of DNA would be able to niti ply
itself independently i in the progeny. d&lls of -
the organism. & / W0 '
It may get integrated into the _genomé‘gf the
recipient.
[t may multiply and be inherited alo ith
the hgst DNF&yJ Ig"
The alien piece of DNA is not an ihfggral
part of chromosome. X
It shows ability to replicate.

1.

86

E.

Choose the correct answer from the opnoniéwen
below:

(1) AandEonly
(2) AandBonly
(3) nd E only

" B and C only

86503

A pink flowered Snapdragon plant was ¢gdssed
with a red flowered Snapdragon plant. Wlightype
of phenotype/s is/arc expected in the progeny?
(1) Red, Pink as well as white flowéred plants
(2) _Only red flowered plants

Red flowered as well as pink ﬂowere@lﬂnts
(4) Only pink flowered plants

111

\ i- m
112 - Match List 1 with List I1 Q
ListI List IT O
A. Rhizopus I, Mushroom 7
B. Ustilago TI.  Smut fungus
- C. Puccinia IT1. Bread mould c;'u
D. Agaricus IV. Rust fungus L)

Choose the correct answer from the optionﬁiven
be low:

O
%)) A-IV, B-III, C-I1, D-T & W0
_ A-IIL, BAL, C-IV, D-I -
' (3) A-LB-IL C-II, DIV %
(4) A-II, B-II, C-1, D-IV
[ Contd...
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" D. The discrete unit controlling a pa@ular

Auxin is used by gardeners 10 prepare W

;)(fprqmotes abscission of matute leaves only.

Hind [lalways cuts DNA moleculesata particular
point called recognition sequence and it consists
of .
(2) 8bp -
. @) 4bp )
- bt
Which one of the ] following can be explaiﬁéd on
the basis of Mendel’s Law of Pominance?
A. Outof on\e pa1r of factors one is d%nant
and the othe{ is recessive. W
B. Alleles do not show any expression and both
the characters appear as such m F,
generation.
C. Factors occur in pairs in normal ﬁ}mld
plants. =

character is called factor~" )
E. The expresswn of only one of the paf‘ental

characters is found in a monohybrid cross.~{

Choose the correct answer from the options given
below: f"’]
(1) AB,C,DandE Ef?é
(2)7A, B and C only W

) A,C,DandE only ['s)
(4 B, C and D only s

' Tk

The type of conservation in which the threatened
species are taken out from their natural, habitat
and placed in special setting where they;can 0 be
protected and given special care is callecf;

(1) Sustainable development &
)

W
in-situ conservation gt : %
Biodiversity conservation W
(4) Semi-conservative method X

Do
lawns. But no damage is caused to grass ayguxm

(1) can help in cell dlwsmn in grass@s to
produce growth.” @

W

(2) promotes apical dominance. *

does not affect mature monocotyledonous

- plants.

117

118

119

120

121

17

Which of the following is an'example of
actinomorphic flower? -
(1) Sesbania }/ Darura&
3) Cassia ) Pisum)
(3) ) w
oo
The cofactor of the enzyme carbox@eptidas_e is:

{1) Haem Zinc
3) Niacin 4y Flavin
(3 : @ .
The equation of Verhulst-Pearl logi%c growth is
an K-N
e ] !
O

From this equatioﬁ, K indicates:
(1) Population density

(2) Intrinsic rate of natural incred¥s
(3) Biotic potential
“ Carrying capacity

268650

& rr_.

Inhibition of Succini¢ dehydrogenss enzyme by

malonate is a classical example of*

(1) Enzyme.activation .
.(2) Cofactor inhibition _ g
(3) Feedback inhibition LN
Compétitive inhibiti G
ompetitive inhibition 0.

w \“._;

Given below are two statements: 0

Statement I : Chromosomes become gradually
visible under light microscope du;;mg leptotene
stage. »/ )

Statement IT : Thebeglnmgof dlpa ene stage is
recognized by dissclution of § aptonemal
complex. w0

In the light of the above statemeng@ choose the
correct answer from the options given below:

(1 Sta__tementl is false but Statement II is true
__(Z? Both Statement I and Statement II are true
(3) Both Statement T and Statement IT are false
(4) Statement] is true but Statement I is false
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122 Tropical regions show greatest level of species | 125 Identify the set of correct statemenfs:
richness because A. The flowers of Vallisneria are colourful.and
A. Tropical Tatitudes have remained relatively produce nectar. K T g "
undisturbed. for millions of years, hence B. E;livgt%werif waterlily oot pollinated
- 7, - . I, "
g}g;:sigégzogaig:allab]e for speetes C. In most of water-pollinated species, the
. " e pollen grains are protected from wetting, ~
B. Tropical environments are more seasonal. ok D. Pollen grains of some h "drophytes are long
C.  More solar energy is available in tropics..” and ribbon like. —, ¢
D. Constant environments promote niche E. In S?mde hy::i'ro;;h).zte% the pollen grains are
specialization~ _~ carried passively inside water. — -
E. Tropical environments are constant and E:;OOSF the correct anawer from the options given
PredICt&.h]e. I./ ‘ wyé’ C, Dand E Onl'
Choose the correct answer from the options given (2) C,DandEonly
below:; . (3) A, B, CandD only
(1) A, B and D only (4) A,C,DandEonly
2§ A,C,DandE onl » .
A Gy Diind Rigily 126 Given below are two statements:
(3) AandBonly , Statement I : Bt toxins are insect group specific )
(4) A,BandE only and coded by a gene cry [Ac. o
; _ Statement II : Bt toxin exists as inactive
. 123 'Identify the part of the seed from the given figure | protoxin 1;“ £ thur rﬂtgl;'erfszs - However, after
= which is destined to form root when the seed ingestion by the insect the inactive protoxin gets
- Siiiithate - converted into active form due to @ pHof
g : X - . the insect gut 2
Q_M ) In the light of the above statements, choose the _

correct answer from the options givenbelow:
(1) Statement I is false but Statement II'is true

(2), Both Statement I and Statement II are true
A5 M% &ﬁ/ Both Statement I and Statement 11 are false
- (4) Statement I is true but Statement 1T is false

B - QW*&D o
127_Match List I with List T__ . B
Do ol . R List I - List 11

- A. Two or more L. Back cross
2) A altemagive '
. forms of a gene
ey -9 ; 4 C _ B. Crossof Fi'y II.  Ploidy
124 . ;Fhéise are regarded as major causes of biodiversity :Egorfggg‘::: \‘\2
Gt ' . recessive parent . -
A.  Over exploitation ./ ) C. Crossof F . 1. Allele
B. Co-extinction _- o proge;?fh with
: . any of the parents
C. Mutfitlon ¥ Vi D. Number of IV.  Testcross e
D. * Habitat loss and fragmentation chromosome :
E. Migration sets in plant e
. Chgose the correct option: : Choose the correct answer from the options given
%ﬂ A, B and D onl ‘ belo:
e Y - (1) A-1V, B-IN, C-IL, D-I |
(2) A,CandD only ' (2) A-L B-II, C-I1I, D-1V W ;
() A,B,CandD only - _ \1(2)/\41, B-I, C-lII, DIV " ;
(4) A,BandE only \ A-IIT, B-TV, C-I, D-H v
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128 Inaplant, black seed color (BB/Bb) is dominant’
over whlte seed color (bb). In order to find out
the genotype of the black seed plant, with which
of the follpw:vlng genotype will you cross it?

1y BB/ABLY ¢ () BB

Mb \\% (4) Bb -

! s :
129 Lecithin, a smaliginolecular weight organic
compound found in living tissues, is an example
of:
(1) Carbohydratess
: %)
(2) Amiho acids t&J
&
?/ Phosphohpldsgj
(4) Gly:,endes
ﬁ
130 How many moleciles of ATP and NADPH are
required for every@olecuie of CO, ﬁxed in the.
Calvin cycle? &3
3 molecules“@f ATP and 2 molecules of |
NADPH

(2) 2 molecules of ATP and 3 molecules of
NADPH |

(3) 2 moleculestbt ATP and 2 molecules of
NADPH v

6% B

@ 3 molecules t6f ATP and 3 molecules of

NADPH W oy
=\-‘¥;_- )

131 Formation of interfascicular cambium from fully
developed parencliﬁ‘ma cells is an example for
(1) Maturation m
(2) D:fferenttatt%

(3) Redifferentiation
(' Dedifferentiation ,
S4 English | ' 19

132  Which one of the following is nota criterion for
classification of fungi?

(1) Fruiting body

(2) , Morphology of n%agcielium
' ,,(»3)/ Mode of nutritior$

@ Mode of spore fo:@ation

In the given figure, wWiith component has thin
outer walls and h1ghly‘1i1ckened mner walls?

133

(1) B "5 C
(3) D 4 A

The lactose present f{r?the growth medium of
bacteria is transportedfo;the cell by the action of:
(1) Polymerase e
(2) Beta-galactosidasey
(3) Acetylase w2

Permease

134

" Which of the fonowingre required for the dark
reaction of photosynthesis? '

A. Light g
Chiorophylls &
co, 7 =
ATP ./

NADPH 7 &

Choose the correct answer from the options given
below:

(1) D andE only
(2) A,BandConly
(3) B,CandDonly .

% C, D and E only

Mo 0w
3

GoEG
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| Botany : Section-B (Q. No. 136 to 150)

.

136 Match List I with List I
List I List IT
A. Citric acid I.  Cytoplasm
cycle )
B. Glycolysis 1. Mitechondrial
, matrix
C. Electron II. Intermembrane
transport " space of
system mitochondria
D. Proton IV. Inner
gradient mitochondrial
Ty " B - membrane
Qli'obsé the correct answer from the options given
_ below:

(1) A-IV, B-III, C-II, D-I
(2) , A-1, B-II, C-IIL, D-IV
.,(z{' A-IL B-I, C-IV, D-IIT
(4) A-I, B-IV, C-I, D-IT

137 Identify the correct description about the given
figure:

Compact inflorescence showing complete
autogamy. ;

Wind pollinated plant inflorescence showing
flowers with well exposed stamens. ‘
Water pollinated flowers showing stamens
with mucilaginous covering.

(4) Cleistogamous flowers showing autogamy.

(3)

138 Spraying sugarcane crop with which of the
following plant growth regulators, increases the
length of stem, thus, increasing the yield?

(1) Abscisic acid
(2) sAuxin
Gibberellin
(4) Cytokinin .

S4_English | 20
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139 Inan ecosfstem if the Net Primary Productivity

(NPP) of first trophic level is s

100x (keal m™2) ! » what would be the GPP
" (Gross Primary Productivity) of the third
trophic level of the same ecosystem?

W) 12 Groat m )yt
3x-
Q) = (kealm™2) 1"
10 __
(3) x(ealm2)p1
(4)  10x (keal m™2) yp!
140 Which of the following are fused in somatic
hybridization involving two varieties of plants?
(1) Pollens
(2) Callus .
(3) Somatic embryos -
(4) Protoplasts .
141 Match List I with List II
ListI List IT -
(Types of Stamens)  (Example)
A. Monoadelphous 1. Citrus
B. Diadelphous II. Pea
C. Polyadelphous I Lily ¥

D. Epiphyllous IV. China-rose

Choose the correct answer from the options given

below:

- (1), A-III, B-I, C-1V, D-II
A-TV, B, C-I; D-III

(3) A-IV, B-I, C-IL, D-IIT
(4) A-L, B-II, C-IV, D-TI

142 Which of the following statement is correct
yding the process of replication in Z.coli?

The DNA dependent DNA polymerase .

catalyses polymerization in 5° —3 direction.
(2) The DNA dependent DNA polymerase
~ catalyses polymerization in one direction
thatis 3°—>5°.
The DNA dependent RNA polymerase
catalyses polymerization in one direction,
thatis 5 —3°,
The DNA dependent DNA polymerase
catalyses polymerization in 5° =3’ as well
as 3°—» 5’ direction. ’

@)
C)]
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